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Zeros and linear conditions

The minimal zero supports are given by (1, 2, 3), (1, 2, 4), (1, 2, 5), (1, 3, 6), (2, 4, 6), (3, 4, 6), (3, 5, 6)

A =


1 − cos(φ2) − cos(φ1) cos(φ2 + φ3) cos(φ2 + φ4) cos(φ1 + φ5)

− cos(φ2) 1 cos(φ1 + φ2) − cos(φ3) − cos(φ4) cos(φ3 + φ6)
− cos(φ1) cos(φ1 + φ2) 1 cos(φ5 + φ6) cos(φ5 + φ7) − cos(φ5)

cos(φ2 + φ3) − cos(φ3) cos(φ5 + φ6) 1 b1 − cos(φ6)
cos(φ2 + φ4) − cos(φ4) cos(φ5 + φ7) b1 1 − cos(φ7)
cos(φ1 + φ5) cos(φ3 + φ6) − cos(φ5) − cos(φ6) − cos(φ7) 1


The zeros are given by the columns:

(u1, u2, u3, u4, u5, u6, u7) =


sin(φ1 + φ2)

sin(φ1)
sin(φ2)

0
0
0




sin(φ3)

sin(φ2 + φ3)
0

sin(φ2)
0
0




sin(φ4)

sin(φ2 + φ4)
0
0

sin(φ2)
0




sin(φ5)

0
sin(φ1 + φ5)

0
0

sin(φ1)




0

sin(φ6)
0

sin(φ3 + φ6)
0

sin(φ3)




0
0

sin(φ6)
sin(φ5)

0
sin(φ5 + φ6)




0
0

sin(φ7)
0

sin(φ5)
sin(φ5 + φ7)



1. Au1 =


0
0
0

sin(φ2) cos(φ1 + φ2 + φ3) + sin(φ2) cos(φ5 + φ6)
sin(φ2) cos(φ1 + φ2 + φ4) + sin(φ2) cos(φ5 + φ7)
sin(φ1) cos(φ1 + φ2 + φ5) + sin(φ1) cos(φ3 + φ6)

 ⇒


cos(φ1 + φ2 + φ3) ≥ − cos(φ5 + φ6)

cos(φ1 + φ2 + φ4) ≥ − cos(φ5 + φ7)

cos(φ1 + φ2 + φ5) ≥ − cos(φ3 + φ6)

2. Au2 =


0
0

sin(φ2) cos(φ1 + φ2 + φ3) + sin(φ2) cos(φ5 + φ6)
0

b1 sin(φ2)− sin(φ2) cos(φ3 − φ4)
sin(φ3) cos(φ1 + φ5) + sin(φ3) cos(φ2 + φ3 + φ6)

 ⇒


cos(φ1 + φ2 + φ3) ≥ − cos(φ5 + φ6)

b1 ≥ cos(φ3 − φ4)

cos(φ1 + φ5) ≥ − cos(φ2 + φ3 + φ6)

3. Au3 =


0
0

sin(φ2) cos(φ1 + φ2 + φ4) + sin(φ2) cos(φ5 + φ7)
b1 sin(φ2)− sin(φ2) cos(φ3 − φ4)

0
sin(φ4) cos(φ1 + φ5) + sin(φ2 + φ4) cos(φ3 + φ6)− sin(φ2) cos(φ7)

⇒


cos(φ1 + φ2 + φ4) ≥ − cos(φ5 + φ7)

b1 ≥ cos(φ3 − φ4)

sin(φ4) cos(φ1 + φ5) + sin(φ2 + φ4) cos(φ3 + φ6)− sin(φ2) cos(φ7) ≥ 0

4. Au4 =


0

sin(φ1) cos(φ1 + φ2 + φ5) + sin(φ1) cos(φ3 + φ6)
0

sin(φ5) cos(φ2 + φ3) + sin(φ5) cos(φ1 + φ5 + φ6)
sin(φ5) cos(φ2 + φ4) + sin(φ5) cos(φ1 + φ5 + φ7)

0

⇒


cos(φ1 + φ2 + φ5) ≥ − cos(φ3 + φ6)

cos(φ2 + φ3) ≥ − cos(φ1 + φ5 + φ6)

cos(φ2 + φ4) ≥ − cos(φ1 + φ5 + φ7)
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5. Au5 =


sin(φ3) cos(φ1 + φ5) + sin(φ3) cos(φ2 + φ3 + φ6)

0
sin(φ6) cos(φ1 + φ2) + sin(φ6) cos(φ3 + φ5 + φ6)

0
b1 sin(φ3 + φ6)− sin(φ6) cos(φ4)− sin(φ3) cos(φ7)

0

⇒


cos(φ1 + φ5) ≥ − cos(φ2 + φ3 + φ6)

cos(φ1 + φ2) ≥ − cos(φ3 + φ5 + φ6))

b1 sin(φ3 + φ6)− sin(φ6) cos(φ4)− sin(φ3) cos(φ7) ≥ 0

6. Au6 =


sin(φ5) cos(φ2 + φ3) + sin(φ5) cos(φ1 + φ5 + φ6)
sin(φ6) cos(φ1 + φ2) + sin(φ6) cos(φ3 + φ5 + φ6)

0
0

b1 sin(φ5)− sin(φ5) cos(φ6 − φ7)
0

⇒


cos(φ2 + φ3) ≥ − cos(φ1 + φ5 + φ6)

cos(φ1 + φ2) ≥ − cos(φ3 + φ5 + φ6)

b1 ≥ cos(φ6 − φ7)

7. Au7 =


sin(φ5) cos(φ2 + φ4) + sin(φ5) cos(φ1 + φ5 + φ7)

− sin(φ5) cos(φ4) + sin(φ7) cos(φ1 + φ2) + sin(φ5 + φ7) cos(φ3 + φ6)
0

b1 sin(φ5)− sin(φ5) cos(φ6 − φ7)
0
0

⇒


cos(φ2 + φ4) ≥ − cos(φ1 + φ5 + φ7)

− sin(φ5) cos(φ4) + sin(φ7) cos(φ1 + φ2) + sin(φ5 + φ7) cos(φ3 + φ6) ≥ 0

b1 ≥ cos(φ6 − φ7)

From inequalities on φi we get:{
φ1 + φ2 + φ3 + φ5 + φ6 ≤ π
φ1 + φ2 + φ4 + φ5 + φ7 ≤ π

⇒

Copositivity:

Sets (1, 3, 4), (2, 3, 4), (1, 3, 5), (2, 3, 5), (1, 4, 5), (2, 4, 5), (3, 4, 5), (1, 3, 4, 5), (2, 3, 4, 5), (1, 2, 6),
(2, 3, 6), (1, 4, 6), (1, 5, 6), (2, 5, 6), (4, 5, 6), (1, 4, 5, 6) have to be considered.

1. I = (4, 5, 6), b1 ≥ cos(φ6 − φ7) => φ6 + φ7 ≥ |φ6 − φ7| performs strictly

2. I = (1, 4, 5, 6), (1, 5, 6) : u = e5 + e6 : cos(φ6 − φ7) ≥ cos(φ6), cos(φ2 + φ4) ≥ − cos(φ1 + φ5) =>
φ2 + φ4 + φ1 + φ5 ≤ π performs

3. I = (2, 5, 6) : φ4 + π − φ3 − φ6 + φ7 ≥ π => φ4 + φ7 ≥ φ3 + φ6

4. I = (1, 4, 6) : φ6 + π − φ2 − φ3 + π − φ1 − φ5 ≥ π => π ≥ φ1 + φ5 − φ6 + φ2 + φ3 performs strictly

5. I = (1, 3, 4, 5), (1, 3, 4), (1, 3, 5) : u = e1 + e3 : 3)π ≥ φ1 + φ2 + φ6 + φ5
5)π ≥ φ2 + φ4 + φ5 + φ7 performs strictly

6. I = (2, 3, 4, 5), (2, 3, 4), (2, 4, 5) : u = e2 + e4 : 3)π ≥ φ1 + φ2 + φ6 + φ5
5) cos(φ3 − φ4) ≥ cos(φ4) => φ4 ≥ |φ3 − φ4| performs strictly

7. I = (2, 3, 5) : φ4 + π − φ1 − φ2 + π − φ5 − φ7 ≥ π => π ≥ φ1 + φ5 − φ4 + φ2 + φ7 performs strictly

8. I = (1, 4, 5) : π − |φ3 − φ4|+ π − φ2 − φ3 + π − φ2 − φ4 ≥ π => 2π ≥ 2φ2 + φ3 + φ4 + |φ3 − φ4| performs
strictly
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9. I = (3, 4, 5) : π − |φ6 − φ7|+ π − φ5 − φ7 + π − φ5 − φ6 ≥ π => 2π ≥ 2φ5 + φ6 + φ7 + |φ6 − φ7| performs
strictly

10. I = (1, 2, 6) : φ2 + π − φ1 − φ5 + π − φ3 − φ6 ≥ π => π ≥ φ1 + φ5 − φ2 + φ3 + φ6 performs strictly

11. I = (2, 3, 6) : φ5 + π − φ1 − φ2 + π − φ3 − φ6 ≥ π => π ≥ φ1 − φ5 + φ2 + φ3 + φ6 performs strictly

That proves coposititvity with additional condition on φi : φ4 + φ7 ≥ φ3 + φ6, using it we get conditions

on φi :

{
φ1 + φ2 + φ4 + φ5 + φ7 ≤ π
φ4 + φ7 ≥ φ3 + φ6

All remain inequalities fulfilled. If φ4 + φ7 = φ3 + φ6 , then there is

additional minimal zero (2, 5, 6) ⇒ φ4 + φ7 > φ3 + φ6
There is a symmetry 123456 ↔ 361452, that means for φi : φ2 ↔ φ5, φ3 ↔ φ6, φ4 ↔ φ7 and it follows we can
let b1 = cos(φ6 − φ7)

0.1 Parametrization:

A =


1 − cos(φ2) − cos(φ1) cos(φ2 + φ3) cos(φ2 + φ4) cos(φ1 + φ5)

− cos(φ2) 1 cos(φ1 + φ2) − cos(φ3) − cos(φ4) cos(φ3 + φ6)
− cos(φ1) cos(φ1 + φ2) 1 cos(φ5 + φ6) cos(φ5 + φ7) − cos(φ5)

cos(φ2 + φ3) − cos(φ3) cos(φ5 + φ6) 1 cos(φ6 − φ7) − cos(φ6)
cos(φ2 + φ4) − cos(φ4) cos(φ5 + φ7) cos(φ6 − φ7) 1 − cos(φ7)
cos(φ1 + φ5) cos(φ3 + φ6) − cos(φ5) − cos(φ6) − cos(φ7) 1


with conditions : φi ∈ (0, π), φ1 + φ2 + φ4 + φ5 + φ7 ≤ π, φ4 + φ7 > φ3 + φ6, |φ4 − φ3| ≥ |φ7 − φ6|, or

A =


1 − cos(φ2) − cos(φ1) cos(φ2 + φ3) cos(φ2 + φ4) cos(φ1 + φ5)

− cos(φ2) 1 cos(φ1 + φ2) − cos(φ3) − cos(φ4) cos(φ3 + φ6)
− cos(φ1) cos(φ1 + φ2) 1 cos(φ5 + φ6) cos(φ5 + φ7) − cos(φ5)

cos(φ2 + φ3) − cos(φ3) cos(φ5 + φ6) 1 cos(φ3 − φ4) − cos(φ6)
cos(φ2 + φ4) − cos(φ4) cos(φ5 + φ7) cos(φ3 − φ4) 1 − cos(φ7)
cos(φ1 + φ5) cos(φ3 + φ6) − cos(φ5) − cos(φ6) − cos(φ7) 1


with conditions : φi ∈ (0, π), φ1 + φ2 + φ4 + φ5 + φ7 ≤ π, φ4 + φ7 > φ3 + φ6, |φ4 − φ3| ≤ |φ7 − φ6|

Extremality:

The submatrix A12346 is isomorphic to a T -matrix. Any B in the face of A is hence such that B12346 is
proportional to A12346. In particular, only the diagonal element B55 may differ from the other diagonal elements
of B. But either of the zeros u3, u7 ensures that B55 equals the other diagonal elements. Hence B is proportional
to A and A is extremal.

Result

The extremal copositive matrices with the given minimal zero support set are given byA =


1 − cos(φ2) − cos(φ1) cos(φ2 + φ3) cos(φ2 + φ4) cos(φ1 + φ5)

− cos(φ2) 1 cos(φ1 + φ2) − cos(φ3) − cos(φ4) cos(φ3 + φ6)
− cos(φ1) cos(φ1 + φ2) 1 cos(φ5 + φ6) cos(φ5 + φ7) − cos(φ5)

cos(φ2 + φ3) − cos(φ3) cos(φ5 + φ6) 1 max(cos(φ3 − φ4), cos(φ6 − φ7)) − cos(φ6)
cos(φ2 + φ4) − cos(φ4) cos(φ5 + φ7) max(cos(φ3 − φ4), cos(φ6 − φ7)) 1 − cos(φ7)
cos(φ1 + φ5) cos(φ3 + φ6) − cos(φ5) − cos(φ6) − cos(φ7) 1


under the conditions : φi ∈ (0, π), φ1 + φ2 + φ4 + φ5 + φ7 ≤ π, φ4 + φ7 > φ3 + φ6.
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